Biology A L.K.No. 79 Paper Code No. 7461

Paper - Il (Objective Type) (Ist - A - Exam 2023 ) GAEM
Time Allowed : 18 minutes SSC(Part-1I) (Group | .r:f ) 2 15
Maximum Marks : 12 Session (2019 - 21 ) to (2021 -23) 12

Bup-1-22

24

Y

<Dy

L AS

-q:/;.wﬁ&ﬁtﬁ}bﬁw’ﬁfﬂvé.._flj:c/»bu”u;ﬂ;d:i..;&b&dlrffcé(dli-u‘léc—: D,C,B,Aulzlplivy i &igs
_b’mﬂw...wwCzu'.,;fJL/J..,nL//Ju,mugm....(
Note : Four possible choices A,B,C,D to each question are glven, Which choice Is correct, fiil that clrcle in front of that guestion
number, Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark In that question.
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The Respiratory Centre is sensitive to the concentration of --—-—- Gas in the blood @)
(&) cO, STk (B) NHy 21 (O) O, FT D) N, Gt
Cactus is a common example of  : ; q_d@rb._g U).Q’ )
(A) Halophytes 657 (B) Xerophytes Jis47 (C) Mesophytes (s 55 (D) Hydrophytes el bas i)
The Unit of Nervous System is called & f&u{ JV’ J ("/ vz (3)
(A) Gene % (B) Nephron /¥ (C)Neuwron @l (D) Enzyme fi
Mature Bone Cells are called : Y bR G gy al. @)
(A) Osteoclast 4T (B) Osteoblast & ot (C) Chondrocytes U156 (D) Osteocytes JE T
The process of Multiple Fission is found in 5 ﬁ:.t'la Jf ¥ b \_’JA (5)
(A) Amoeba s\l (B) Paramecium U= rf?lﬁ (C) Planaria (% Lpisly (D) Yeast U Copiny
1k U s hS oy Sty e sdln) (6
In Bryophyllum Vegetative Propagation is done by
(A) Stem & (B) Leaves & () Seeds Ji* (D) Spores s
Mendel Selected which plant for his experiments : ! Y Y 4..)4"0( Ej—é:.a{,]."cv-fi.dfcr 7)
(A) Rosa Indica  Xlls (B) Pisum Tubersum (m‘(@
(C) Pisum Sativum r:é.‘.’d (D) Solanum Nigirum rzgfgr
In Artificial Selection, the Bred Animals are called : Y LU{ Jocus) dop 3Pl (8)
(A) Varieties g (B) Cultivars thb’ (C) Breeders itz (D) Breeds Ji«
Abiotic Component of an Ecosystem is : ‘ Do ) 9405 X WO ¥ ("/ ,[ i 9
| (AyWater 0} (B) Algae &% (C) Rose I (D) Frog S
An example- of Perfect Biogeochemical Cycle is : : 9',)\?&}?%)%‘{4?5 y.f.ﬁ{ L (10)
(A) Nitrogen Cycle S ePsft (B) Carbon Cycle Sk
(C) Water Cydle Sy (D) Oxygen Cycle ST
_|Ethanol is used in the production of : : 4.rwdmuta,u v s | (11)
(A) Plastic JLI{; (B) Soap Sl (C) Vinegar .f/ (D) Rubber %4
gt 2 A G S SBLS s | (12)
Infections against which Antibiotics are not effective are called
(A) Amoebic Sl (B) Fungal J‘*” (C) Bacterial 2% (D) Viral  J7 ﬁ
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Note : It is compulsory to attempt (5 -- 5) parts each from Q.No. 2, Q.No.3 and Q.No.4 and attempt any (02)
qt_xestions from PartII. Write same Questions Number and its Part No. as given in the question paper.

30 = 2x15 Make Diagram where necessary. -‘thu‘{}"xw,ﬁugz’ (Partl) Jslo

What is meant by Inspiration ? Seleld e K () 240w
, & 1 0P U S o St (i)
Differentiate between Acute Bronchitis and Chronic Bronchitis.
What are Vocal Cards ? Write their function. -’qfc}bf Koty IS (i)
“Zyf )iy L LL S Cg&&g B P (i)

Write two adaptations in Xerophytes to prevent loss of water.

Define Lithotripsy. s § i v
Name any four components of Coordinated Action. -é{]?t& #I21 Sl GG:ZJPL\_)@\_;\L) T s (vi)
Write any two functions of Hypothalamus. -’:{;f (e » Jf & u’é_‘f.{f} {vii)
How does ‘Goiter disease occur ? ?4‘;.(3;1(,)1,/4_5/&3 L/( /‘"lf (viii)
Differentiate between Osteocytes and Chondrocytes. &GS U ¥ s Sk iy 34
What are Ligaments ? ‘s Y (i)
What is meant by Parthenogenesis ? Seipl < u"*’:’#’@ (iii)
Differentiate between Bulbs and Corms. -Z:J/ e ]Jf s (iv)
What is meant by Incomplete Dominance ? ?c‘:.)l/Lf = J%ﬁg}‘ﬁ: {v)
Write the Genotype of Blood Group B. -’4‘.’6..{’0}.5 J B-;-:/C'& {vi)
State the Law of Independent Assortment. -éuywrld%dﬁldﬁu (vit)
Differentiate between Continuous and Discontinuous Variations. -ZgJ/’ o .:.l/.,"U’t;:! 2l J"V (viii)
Write the names of Biotic and Abiotic Components of Ecosystem. -e,e?c L 2B et sl ELLEJP\ (1) 44
Write difference between Food Chain and Food Web, 20 %15} 539 (ii)

k) S Slandoe m p il i)

{ Differentiate between Renewable and Non - Renewable Resources.

If producers are eliminated from Ecosystem, what will happen? S¥n (7 qj:f f';c_J?L ' irdy A (iv)

What is Human Genome Project ? e |f LS (v)
2L 3 0 Lok RSttt S (1)

Write names of two vectors used in Genetic Engineering.

What is meant by Heroin ? Write its bad effects. _éfaalﬁla.jéw ?9)1/&( & c,f'),:e (vii)
How Bacteria gain resistance against Antibiotics ? ?q{é"_ﬁ,g.d:wl}'w} Sl u"ﬁ:’&é’ll ! ,:‘é (viii)
18 = 2x9 (Part Il) (23>
(4) Describe the Osmoregulatory Function of Kidney. -&’ug S d}!:fm:ol ¢ s () 5,4l
6) Bl § U L oS g M P § - pasn (L)
Define Skeleton and explain the components of Human Skeleton.
(4) Write a note on Autonomic Nervous System. -é{f:‘d { rL/ AT () 64y

(5) oS w P S L O

Explain the process of Binary Fission in Bacteria with the help of Diagram.

(4) Write down four basic steps in Genetic Engineering. -2;;/:}’1/6:9 s L E7R1 G (L) 7 )y
(5) Describe Mode of Action of Vaccine. -Efqu)VL/PK LSy ()
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number. Use marker or pento fill the clrcles. Cutting or filling two or more circles will result in zero mark In that question.

In Normal Circumstances, human breathe per minute : ; 4.0.':"/) bibenLgll & e bt 140
(A) 1620 Times .3, 20 & 16 (B) 30--40 Times .2/ 40 & 30 1)

(C) 16— 30 Times .7/ 30 e 16 (D) 20--30 Times .7/ 30 & 20

Chest is made up of Chestbone called : - JU:'( 4 q..&nui J OLIO% 4 J{e: (2)

(A)Keel £ (B) Hyoidbone w470} (C) Rib Cage # ¥ Us? (D) Sternum [

Types of Neuron on the basis of their function are Y 4% o e s 2 (¥l )

(A) 5 (B 2 © 3 (D 4

The By-Product of Photosynthesis is : -3 ..‘fb{(j; ¥ yu‘??;’ @)

(A) Carbondioxide Gas \.f‘-fifv(l"ih;fu( (B) Oxygen Gas u{f{ T (C) Glucose 55 oi5” (D) Water dg

Which ONE of the following is a Unicellular Fungus : : ;.J@k&g.guuf‘,uﬁufs?m (5)

(A) Yeast oy (B) Sponge 6’,‘-’ (C) Hydra i35, (D) Coral Jo

A good example of Discontinuous Variations is : : q_dl‘?&’lvg g g,l/,fU’V L (6)

(A) Height 4 (B) Weight  Js (C) Intelligence ‘{3 (D) Blood Group u'v',ofﬂz

The name of Protein present in Chromatin Material is : L ¥ uf:{ wr A J:}:‘u’r:/ 7)

(A) Insulin ugrji (B) Haemoglobin cﬂ:‘ 7 (C) Histone (& (D) Fibrin /A

Tulip , Onions and Lilies are examples of : Y uf-‘l?‘\_sh 29 Dl ! -UYL_}S" (8)

(A) Rhizomes )-,Jdt/ (B) Bulbs 3 (C) Tubers ( iz (D) Corms  yof

The Thickness of Biosphere is about : ok /"T & Us é%/ J AEL9)

A)16KM. 34¥ 16 (B) 20KM.  3%F 20(0) 30 KM. ;< 30 (D) 40KM. 3K 40

Digitalis is obtained from : : q_t'm}’ b Gk J5 (10)
(A) Fungus & 53 (B) Algae <« j‘l (C) Bacteria &} ,:‘é (D) Foxglove L)‘er

Acrylic Acid is used in the production of : : q.t‘:tdlﬁ‘lufé_.b:fgf( Galfigll (1)

(A) Vinegar .J} (B) Printing u@{ (C) Plastic ..ff!g (D) Soap ile

In the base of Food Chain, there is always any : 4 Jf &4 Ul J =31 (12)

(A) Primary Consumer /M d/"{ (B) Producer  ,gis

(C) Secondary Consumer /{}f WAL (D) Tertiary Consumer /4,’7{6}}
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.d and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

| 30 = 25<1'5| _ IMake Diagram where necessary. ..u,"ll'/.u"'dgnduﬁugz (Partl) Jslo

Write down symptoms of Pneumonia. -’46.::411: J L’/ (i) 2/,‘ULV
Differentiate Dbetween Bronchi and Bronchioles. ..a;‘fd J/’ - jgf:/. » Jiﬂu {ii)
Write two bad _effects of Smoking. y “Eyf et in & S5 (i)
Define Lithotripsy. ' L e i)
Define Xerophytes and give example. e 2‘55.4{/’ J J’"'{ Gaz) (V)
What is meant by Aqueous Humour? et SRS (vi)
Define Endocrine Glands and Exocrine Glands. ..2?:-,33/7 J va:,‘u,"/r-{ Ll )}..!c/{f/g}q,l (vii)
What are Meninges? - C Y e s (Vi)
..What is the difference between Origin and Insertion? S/ U Al Fnt () 3
What are Fibrous Cartilage ? s T pasds ()

| Define Alternation of Generations. . -é..y/’ g f’t/'z._jl’u’fﬂ‘f (iii)
Write name of four parts of Seed. ..’4‘?!: Ly~ s L E (iv)
What is the difference between Dominant and Recessive Allele? Y‘.«‘;.J/' Y- ngn""u sl L5 (V)
State Mendel's Law of Segregation. Bl b K ST N Y Jhe (vi)
State difference between Breeds and Cultivars. _éug J/’ U ]J"JK sl bz (vii)
What is meant by Organic or Biological Evolution? Seapl e HB0EL | Giet (viil)
Define Populaﬁon and Community. ; -é..y;’ d/ G’),.I J"’C}i"').g“(. {)] 4/1‘ULV
What is Global Warming ? ' te i Lk (i)
Write two effects of Deforestation. -2;5’6 et 9l (Deforestation)(jﬁfJalﬁe (iil)
What is meant by Acid Rain? el < JAE (iv)
What is meant by Genetic Engineering ? ?+,ygf e £ ,’f.ﬁ’lu&" v)
Write two uses of Aspergillus. : | -Z}.}/‘;UWI »L gf“),(i-l (vi)
Differentiate’ between Pharmaceutical and Addictive Drugs. Yq_u")gu: ..-:.l'.»m'l:ﬁf pr] Jf’;rhli (vii)
What are Cephalosporins ? Write their one use. -é:‘i’%b“‘luﬁ € ot Sup | samese (vl

18=2x9 (Part Il) (oo

) Write the Osmoregulatory Function of Kidney. -’4!0 ‘f" d/‘-:{:‘:/r“’:l € s/ (<) 541w
(5) Write detail of components of Human Skeleton. -é;’ddt.“r J U LJ.,J.,,& s ()
(4) Describe two disorders of Eye and their cure. _Eﬁ:c}y ik S’U_l 2 u‘j 5 29 £ T () 6/1{,"}'

©) & e S ) S T ()

‘Differentiate between Epigeal and Hypogeal Germination with labelled diagram.

) o AU ndsle S Lt 2 (D T
What is Fermenter ? Describe two types of Fermentations carried out in Fermenters.
(5) Describe Mode of Action of Vaccine. -éuk.‘&)b’é./rb/ xSy (&)

et ot s een s oo g




